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Sequential Output Tracing Questions for IBPS Clerk Pre, SBI Clerk 

Pre, IBPS RRB Asst. Pre and LIC Asst. Pre Exams. 
Set 45 
 

Directions: A number arrangement machine when given an input line of numbers rearranges 
them following a particular rule in each step. The following is an illustration of input and 
rearrangement. 
 

Input:   23   47   52   69   71 
Step I:   16   38   20   64   17 
Step II:   16   38   64   20   17 
Step III:   21   33   30   06   24 
Step IV:    06   21   24   30   33 
Step V:   11   27   31   38   42 
Find the different steps of output using the above mentioned logic for the following input. 
  
Input:  56   29  34   72  41 
 
 
 

Questions : 

1. Which of the following numbers comes in the middle in Step II? 

A. 56   B. 40   C. 48   D. 74   E. None of these 
 

2. Which of the following numbers is not present in Step IV? 

A. 15   B. 12   C. 30   D. 16   E. All are present 
 

3. On which step we get the output: '30  12  12  18  15' ? 

A. Step I  B. Step II  C. Step III  D. Can't be determined  
E. None of these 
 

4. What is the position of 24 in Step II? 

A. 3rd from the left end B. Exactly in the middle of all the numbers  C. 3rd from the right end  
D. 2nd to the right of 28 E. None of these 
 

5.  If the number '40' in Step II is replaced by 47, what will it become in Step III applying 
the same rule as given in illustration? 

A. 33   B. 30   C. 54   D. 39   E. None of these 



 

 

Correct Answers: 

1 2 3 4 5 

B D C E A 
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Common Explanations: 
 
Input:   23   47   52   69   71 
Step I:   16   38   20   64   17 
Step II:   16   38   64   20   17 
Step III:   21   33   30   06   24 
Step IV:    06   21   24   30   33 
Step V:   11   27   31   38   42 
 
Step I. Multiply the digits of each two digit number given in Input within itself and add 10 to each resultant.  
 
Step II. Place the biggest number acquired in Step I in the middle. 
 
Step III. Add the digits of each two digit number acquired in Step II within itself and multiply the resultant by 
3.  
 
Step IV. Place the numbers in ascending order. 
 
Step V. Add consecutive natural number (starting from 5, 6 .... ) to each number acquired in Step IV.  
 
Based on the same rule, we get the following stesps for the given Input: 
 
Input:   56   29   34  72  41 
Step I:   40   28   22   24   14 
Step II:   28   22   40   24   14 
Step III:   30   12   12   18   15 
Step IV:    12   12   15   18   30 
Step V:   17   18   22   26   39 
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Answers : 
 

1.   Based on the following illustration, we get that the number that comes in the middle of Step II: 40 
 

Option B is hence the correct answer. 
 
 

2. Following the illustration below we can say that '16' is not present in Step IV for the given input. 
 

Option D is hence the correct answer. 
 

 

3. Following the common explanation, we have 

 

Clearly, the output: 30  12  12  18  15 is acquired at Step III.  
 
Option C is hence the correct answer. 

 
 

4.   Following the common explanation, we have 

 

Evidently, all the given options are false with respect to the position of 24 in Step II.  
 
Hence, option E is correct. 

 
 

5. Following the common explanation, we have 
 

In Step II, the digits of each number are being added to themselves within the number and then 10 is 
being added to the resultant.  
 
Thus, 47 will become = (4 + 7) x 3 = 33 
 
Hence, option A is correct. 
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